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A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
SAAED 16,089,485 13,504,631 2,584,854
= 4,772,500
= 11,316,985
cAZe 15,216,824 13,069,506 2,147,318
= 4,500,000
z 10,716,824
SA HE 1,394,212 745,666 648,546
SAHEAE 22 270,112 224,526 45,586
101 QI2144| 12,744 15,000 A2,256
04 JAMZRUS LSS 12,744 15,000 A2,256
OBFREXNTBAIAY 25X & 12,744
02z 35,2002 *25520 %1% 8,976
oR2EY 35,2008 522 +12S 1,831
o RIEI 35,2002 * 152 * 12} 528
0ExZ 35,2002 *302 *487/365 1,409
201 Yer2y| 12,604 10,764 1,840
01 AtR2eldl 12,604 10,764 1,840
osgsy 7,560
0B AHEANE FHALY 70,0002 18 +63| 7,560
ozl 5,044
0T ANE AR=Z OjAHl 5,044,000 5,044
202 01 12,264 10,512 1,752
01 2U0iHl 12,264 10,512 1,752
OZAIME & st deEx
12,264,0002 12,264
203 YR 2,500 2,250 250
03 AIZRARETY| 2,500 2,250 250
OZAAE ABEX 2,500,000 2,500
207 TN 230,000 186,000 44,000
01 gyl 230,000 186,000 44,000
ORT2IHE(ZTR)ZH(HAE)RY
230,000, 000! * 14! 230,000
101 AL OHY 300,000 500,000 200,000
401 Al&ZHI LSO 300,000 500,000 200,000
01 Al&Hl 285,800 485,800 200,000
OFIIDIZY TAHAIE 2X0HLY(152)
285,800,000} 285,800
03 Al& =] 14,200 14,200 0
OZII0ITE TAHEAIL SR AL LY
(1521) 14,200
oREEY 442 225, 00021 ¥3021 6,750
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2AH -3 - SH2A(SH) - MEAMY - BHES Ol AFoH @;w Hl =2
oL 22 3,500, 0002 *27H A 7,000
0SJ| =428 15,0002 x30A 450
202 Hy| 24,100 21,140 2,960
201 LEt2HH| 4,100 3,140 960
01 AtRZt2lH] 4,100 3,140 960
O £9t Al&FHl |XIH| 4,100
o8 £a XIAE AHAICH HHI
37,8042 x41J1 23] 3,100
0849 XA HAIH OIF 500,0008 x2J4 A 1,000
401 Al&HIL 0 20,000 18,000 2,000
01 Al&H] 20,000 18,000 2,000
O =2 X&E AHAH &
10,000, 000 *2JH & 20,000
ADANES TAIBHED| AlHALY 800,000 0 800,000
401 Al&HI LY 800,000 0 800,000
01 Al&H] 800,000 0 800,000
A A2 TAl BFSJl AFY 800,000,000 800,000
[BHAlA SXI0HY(DIBAIEESE S H) 463,744 366,640 97,104
JIBHAIE 2 X0 463,744 366,640 97,104
401 AlEHI LY 463,744 366,640 97,104
01 Al&H] 463,744 366,640 97,104
O JIBtAIE XK 453,444,000 * 14! 453,444
O 2g=sg 242 400,000 x10A 4,000
O LTI =42 3,000, 0002 *27H Ak 6,000
O sJ| =22 30,000 *102A 300
SAl He 13,358,868 11,957,200 1,401,668
[= 4,500,000
= 8,858,868
AEE 84 3,108,868 5,257,200 A2,148,332
201 LEI2HH| 4,196 3,696 500
01 AFRZ2lH] 4,196 3,696 500
O= | 4,196
O AINYE A2 DA 4,196,000 4,196
202 OdH] 4,672 3,504 1,168
01 2o 4,672 3,504 1,168
OZAHY L Al =X 4,672,000 4,672
401 Al&HI LS 3,100,000 5,250,000 A2,150,000
01 Al&H] 3,091,630 5,236,875 A2, 145,245
OZSAIIIX HH| 2 2JH=20FH(BIHEHSIAFS)
3,091,630,0002 14! 3,091,630
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S . "M . O (5 NEAY . B2 Al OH HEE Hl =2+
03 AIE=20HdI 8,370 13,125 A4, 755
OA &SI 3,100,000, 000& *0.27/100 8,370
sl (& ~ dHE2S)TAMHEERE HA 300,000 800,000 A500,000
401 AIEHIZ 20 300,000 800,000 A500,000
01 Al&H| 297,840 794,960 A497,120
Ollsc(BsZ-LLEHE) T AHE T2 (L=280m
,B=8m) 297,840,000 * 14 297,840
03 Al 204y 2,160 5,040 A2,880
oulsal(ds-2H88)TAHEEZ
300,000,000&*0.72/100 2,160
A (ZsL) ZTAHEEZZ & 300,000 1,000,000 A700,000
401 AIEHIZ 20 300,000 1,000,000 A700,000
01 Al&H| 297,840 993,700 A 695,860
O¥Xel =254 T=2(L=350m, B=8m)
297,840,000& »124 297,840
03 Al =20HY| 2,160 6,300 A4,140
OF &L =4 &2 AI4d204bI
300,000,000&*0.72/100 2,160
CHEel (Ol EZ ~4u==2Hl) SAIAHEEZ JHE 500,000 0 500,000
401 AIEHIZ 2L 500,000 0 500,000
01 Al&HI 496,400 0 496,400
OotZel(ote#@Ld4u=sE2tl) TAHEZZ(
L=370m,B=8m) 496,400, 0003 14 496,400
03 AIE=20HdI 3,600 0 3,600
OtZel (ot #L4u=22tl) SAHEEZZ
INE=EE =] 500,000,000& *0.72/100 3,600
272 T2 2 200,000 350,000 A 150,000
401 AIEHIZ 2 200,000 350,000 A 150,000
01 Al&HI 198,560 348,920 A 150,360
OAIDHRI &Z I« 100,000, 000& 100,000
OE22+ 504 2 HEXE HHl 10044
98,560,000 98,560
03 A&yl 1,440 1,080 360
Osz=2+ & ZXE ZHl AId=20]
200,000,000& *0.72/100 1,440
PEXNFHRA(HHAXF) 20 =834l 100,000 100,000 0
401 AIEHIZ 2O 100,000 100,000 0
01 Al&HI 99,100 99,100 0
OHg? H2XF 20+=&(7HL)
99, 100,000& * 1A 99,100
03 AIE=20HdI 900 900 0
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CHe: Al DY (che: &
i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
OHcte Hax P Al AIZ20HY]
100,000, 00024 *0.90/100 900
&2 TAHEC2 WA 2,200,000 1,000,000 1,200,000
[= 1,500,000
= 700,000
401 AlEHIL 20 2,200,000 1,000,000 1,200,000
[~ 1,500,000
2 700,000
01 Al&H] 2,192,080 993,700 1,198,380
ous2 SAHESZ A2 AHL=720m,B8=20m)
2,192,080,0002 x 1A 2,192,080
[= 1,500,000
2 692,080
03 Al&=2HH 7,920 6,300 1,620
OWEI2 TAHBEE2 HEZA
2,200,000,0002 *0.36/100 7,920
AR (MM K~A2-7T5) T A HE S 2 500,000 1,200,000 A700,000
401 AlEHIL 20 500,000 1,200,000 A700,000
01 Al&H| 498,200 1,195,680 697,480
O& 22| (A A R~A2-75) & 2 (L=96m, B=8m)
498,200,000 1A 498,200
03 Al&=2HH 1,800 4,320 A2,520
OAMZIRI(FHAKI~A2-75) T2 AlEZ20]
500,000,00024 %0.36/100 1,800
DA (S2SIIHNZAIHEER 200,000 300,000 100,000
401 AlEHIL 20 200,000 300,000 100,000
01 Al&H] 198,560 297,840 A99,280
OntaZ (S SIIH)Z Al HE =2 (L=58m,B=8m
) 198,560,000 * 124 198,560
03 A& Y 1,440 2,160 AT20
ONtMZI(SY SIHNSZAIHEZZ2 A& L0
200,000,00024%0.72/100 1,440
CEH(EAXANB)SAHE 2 150,000 500,000 350,000
401 AlEHI LS 150,000 500,000 350,000
01 Al&H] 148,920 496,400 A347,480
OS2 (BAXANE) TAIHEZ2(L=260m,
B=8m) 148,920,000 * 124 148,920
03 A& LY 1,080 3,600 A2,520
Ol (BHXNANE) TAHEBZZ ALY
Hl 150,000, 00024 *0.72/100 1,080
ot ATHAI BHHIALY 700,000 1,000,000 300,000
[= 500,000
= 200,000




EM: TAIHFY
I T A2
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i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
401 Al&HI LS 700,000 1,000,000 300,000
[= 500,000
= 200,000
01 Al&H] 695,590 993,700 A298,110
OJF=9H ATHXl &H|(L=300m,B=15m, M Al &)
695,590,000 x 1A 695,590
[= 500,000
= 195,590
03 Al&=2CHHI 4,410 6,300 A1,890
OJ=9d ATX HH| AIZ 2]
700,000,00024 %0.63/100 4,410
AR AN =852 A 1,000,000 450,000 550,000
401 Al&H| L LCHY| 1,000,000 450,000 550,000
01 Al&H] 993,700 446,760 546,940
OXAEH T2 (L=8km, B=1~1.5m)
993,700,000 993,700
03 Al&=2CHHI 6,300 3,240 3,060
OXNENH T2 AIZL20HYI
1,000,000, 000 0.63/100 6,300
LA (SHEYTH) TAHECZZ S A 300,000 0 300,000
401 Al&H| L LCHY| 300,000 0 300,000
01 Al&H] 297,840 0 297,840
OLH(2HEE=H) TAIHEZ2(L=160m,B=8
m) 297,840,000 x 124 297,840
03 Al&=20HHI 2,160 0 2,160
OUHC(SHEFH) TAAHBEZ2 Al 20
bl 300,000,000%0.72/100 2,160
L2 (WRCHLFH) TAIHEE 600,000 0 600,000
401 Al&HI LY 600,000 0 600,000
01 Al&H] 596,220 0 596,220
Odel(WRCHLFH) S AIHE &2 (L=90m,B=
8~12m) 596,220,000 124 596,220
03 Al&=20HH| 3,780 0 3,780
Odd2(WRCILFH) TAHEEZZ AMER
HI 600,000,0002! x0.63/100 3,780
S (A1-30, A2-2355 M)A HE Z2IHE ALY 1,500,000 0 1,500,000
[= 1,500,000
401 Al&H LS 1,500,000 0 1,500,000
[= 1,500,000
01 Al&H] 1,494,600 0 1,494,600
O&F2l(A1-30,2-2354) TAHEZ2(L=48
Om, o1& L=1,364m) 1,494,600,000% 124 1,494,600
[= 1,494,600
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SNBSS - MEAY - BES Arol e HRE2
03 AIZ R0l 5,400 0 5,400
Os&el(21-30,2-2354) TAAHEEZZ AL
Syl 1,500,000,000% +0.36/100 5,400
= 5,400
EH ATHA(EZ,21%) BUIALY 1,000,000 0 1,000,000
= 1,000,000
401 Al&HI YR OHYI 1,000,000 0 1,000,000
= 1,000,000
01 Al&H| 996,400 0 996,400
OfIFH ATX (=2, &)™ HI AL (L=380m, ¢!
S L=720m) 996,400,000& 14 996,400
& 996,400
03 AIZ20i4l 3,600 0 3,600
OfIEH AMX(E2,00 & )H U AH (L=380m, 2!
< L=270m) 1,000,000,000% *0.36/100 3,600
= 3,600
JtXelOhsore=H)SAHE 2 300,000 0 300,000
401 Al&HIZL=ROHYI 300,000 0 300,000
01 Al&H| 297,840 0 297,840
OJtXel(HEtotS=8) T AIHE =2 (1=230m,8
=8m) 297,840,000& 14 297,840
03 AIZ R0l 2,160 0 2,160
ORIl (HE0te=) SAHECZ AE2H
]l 300,000,000& *0.72/100 2,160
Sl (SXNOIIE~S=0IE &) TAIHEEZ 300,000 0 300,000
401 Al&HI LS04I 300,000 0 300,000
01 Al&H| 297,840 0 297,840
OUSel(RXHOIIIE~L=0IEY) TAIHES
2 (L=720m,B=15m) 297,840,000 x 1A 297,840
03 Al 20| 2,160 0 2,160
OS2 (2XIMNOIIE~LF0IEY) TAIHEE
ENE=E N L] 300,000,000% *0.72/100 2,160
SO XIE 288 MEZH =X =4 100,000 0 100,000
401 Al&HI YR OHYI 100,000 0 100,000
01 Al&H| 99, 100 0 99, 100
OTUXE 236 MatzZR SXZL(3MH)
99, 100,000& 99,100
03 AIZ20i4l 900 0 900
OLUAE 88 a3 sxd AIE2H
] 100, 000,000& *0.9/100 900
FHEE A 808,302 372,942 435,360
& 272,500
i 535,802
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SA-ZH - S2A(3AH) - MEAME - HES Ofl &k K Ofl At ot Blusz
WS FHSEMA 808,302 372,942 435,360
= 272,500
= 535,802
OIST2 ASZAl X4 28,142 23,700 4,442
201 Yt 13,940 13,440 500
01 A2l 13,940 13,440 500
Ogut42H| 1,400
OARS FHUEIE AU H4 M
50,0002 x4 +23| 400
oAEZE TAH PY 100,000 10 1,000
o2g+g 7,420
oABSE B4 70,0002 * 1224 53] 4,200
OBSFHY 2AI} MA FBE FALY
70,0002 x9% +33] 1,890
0BESFY SUIHAG BALY
70,0002 *3& *53| 1,050
0BEFY FXIN Mo ARG FHLg
70,0002 x2& x23| 280
EEL] 5,120
oAEAY Y2EZX DjAHl  5,120,000€ 5,120
202 12,702 8,760 3,942
01 =LHoiH 12,702 8,760 3,942
9 2 FAHEHMLAY Y2 FA
12,702,0008 12,702
301 YpreEaa 1,500 1,500 0
10 H2A3 1,500 1,500 0
Che ASTA 28 F4 243
50,0002 *30% 1,500
=& Fy| 235, 160 293,242 /58,082
201 Yure | 9,468 8,468 1,000
01 A2l 9,468 8,468 1,000
2kH| 7,468
oAZQIY YDEX DfAHl 7,468,000 7,468
OASAL LTS 42 2,000,0008 2,000
202 01 18,192 17,374 818
01 =LHoil 18,192 17,374 818
OAZ0IE P2 F7 18,192,000 18,192
207 eI 40,000 0 40,000
02 & &Kl 40,000 0 40,000
OF A=SU GIOIEHHOA 25
40,000,0002 *14! 40,000
307 212H0|H 137,500 237,400 99,900
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SN FH-S(B) - MPAY - BHES Ofl &F o8 il i~ o HRE2
02 IAPARE 137,500 237,400 £99,900
OS2 &l e 37,500
0Ol F EALEHIAL 500,000 +355 17,500
0DISBEAIL 2,000,0002! * 105 20,000
OZsFup BXSN 100,000,0002! 100,000
402 BIHXHZ 01 30,000 30,000 0
01 SIAXERE 30,000 30,000 0
OFs. AL FHAEK S (Fee|2a)
3,000,002+ 105 30,000
BIY | X 145,000 56,000 89,000
= 72,500
= 72,500
307 212+0| & 145,000 56,000 89,000
= 72,500
= 72,500
02 QlAHAEE 145,000 56,000 89,000
OSIHZHIX & 145,000
0ZOIEXE BIFFH 2,000,000 605 120,000
= 60.000
2 60,000
0JIEIXIE PEAY) 1,000,000 5255 25,000
= 12,500
2 12,500
T, 2% Y SHOE AES NSHBAY 400,000 0 400,000
= 200,000
2 200,000
307 212+ 400,000 0 400,000
= 200,000
2 200,000
02 QI2tA AR E 400,000 0 400,000
OL22y 2 SYOIE AES NSHSTAMY
5,000,002 +805 400,000
= 200,000
2 200,000
UHSARH (TAIAED) 64,359 62,183 2,176
ol 64,359 62, 183 2,176
bl 64,359 62, 183 2,176
SRR 42,359 40,183 2,176
01 At 22l 40,359 37.483 2,876
O gersgH| 33,359
0RNE2Y(BE) 33,359
—JIZAIREE 70,0008 *14.6642+33] 3,080
~HYUE ADE 60,0008 *46.6640H+33] 8.400
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210,000 »6. 427501 ~43] 5,400
—ZAZRIED EY
439,000 » 1CH*428 %1 53] 2,634
—SAJIEH 363,000& »1.033CH*33! 1,125
—SAMSXI(A4,B4) 52,0008 +8.46%*12¢ 5,280
—EA==E 70,000& <123 840
—2AES =24l 6,600, 000& 14 6,600
O=gHl 7,000
OBARF(SS) OHAHI 7,000,000& 7,000
02 33234l 2,000 2,700 A700
O 332= % HAl 2,000
o UASK 2HFY 1,750&+95.2380112E 2,000
202 O 22,000 22,000 0
01 WAL 22,000 22,000 0
O8AARFAH|(BE) 22,000,000& 22,000




